jmf\}cef Conwlez 19.1

3
49 \ Sé (16-3)dxdy = %6 b Tk = r- B

0

3 2 252
\Dif dy= 29|, |52
+ 5 ! 5
\9 > E Jx?pmly — \amm:o S ody =|0
b J- - b
| 3
S |

H 79 v e T .
\" So xFsinycy dx —= \D RSNy dy = A2eodY | = xF oS (MY — XS0
\ 2 o ;- p
2 - -Z - .L_ 2z . |-2
\/\ I \-, S S S
oo (F Sq W Axdy — ! 24 = +3 f L N L Y
2 ! S e S T
hvere oy,
) 2vdy = Zly , ° 12647 =¢4
4(3\ 2 (4 _M’\L_ = q | _ \ [’)(-i' \ \q (n (/’X-#L” _ I ( \
o Ty R YY) | = n (&
Z et 0 (4 b
S ln (%) ~1n(K) dx I 3 &6 lnu du
(

b

TP oz lau gz lntu\u-v Lo - MHM.U— Mu]

o'= W w=zv 5 5

. (\n(b)'é - \n(b\)”( In ()5 -1n®) =66 - An




432 SL(')S?M . %5_,‘“0” 3 g Ve 1y = zu/Z‘ZW\

om Df’x/&:/
ur Xy Vs do
q
:Z(Wg’ﬁ) Agul/&-- A = Z(Z’)Q* -—ﬂ\o

(2[%}3/1 _ Q,(qjg_/z> (2(633”'5 Z(‘}‘«BL _ 7725 > 23- 27025
= Z 2 S -g Z 5 < 2

anP:

2 (2 g‘ In(xy) dydx gs n(xy)dy (3, g
jl ( y ‘ v =\, ¥ I (y\/\dy Lt)}-‘tln—'\[;(\;\

3 N /V‘: _{_/_
lw(«y]m\/ - Sl y lny 47 = Jnay Iny — i ty)
Fg (U 3 3

4 , Y
\ an @) J = K2 \ s Qaz — 2n% | bn%
-9 A -2
By T 2 2 2 )
B & &’ﬂ s‘m\/ d’lﬂ\\/ — 8 (xsjn\/ Dbc = SW\\/ &’K \ 3 - g"m\/(/ — SWW
1 g
§ Ms’my(/z- SM\/ A\{ z
2 E _ !-2/_ )
[@Zws ("% = gos ()= [ % cos(s) — eos ()L = &T - ¢ + |




